Final state Fraction [%] Phase [rad]

BT - K§KTK =t
K§(1430)K 35.1+1.34+2.9 0.
ao(980)m 56+08+1.6 —3.394+0.08+0.13
K5(1430)K 154+£1.0%+1.1 3.563+£0.03+0.10
a2(1320)7r 1.1+£02+0.3 —-2.90+0.11+0.26
K (1950) K 3.9+044+03 —0.464+0.06+0.63
ao(1700)m 1.7+£0.34+04 1.00 £0.08 £0.17
ao(1450)7 34+05+08 —4.78+0.08+0.17
a2(1750)m 0.3+0.1£0.1 243 +0.17 £0.17
k(2600) K 63.9+34+81 —-0.42+0.054+0.14
Sum 130.5 +4.0+8.9

x°/ndf = 1798/(1589 — 19) = 1.15

BT - K§KTK*n~

K§(1430) K 32.0+1.2428 0.
ao(980)m 49406+1.0 —3.374+0.0840.11
K3(1430)K 13.841.0+1.2  3.5640.0340.11
a2(1320)7 12402403 —2.82+0.11+0.24
K3 (1950) K 34404403 —0.4240.0640.64
ao(1700)7 07402402  1.1840.1140.28
ao(1450) 7 204+04+0.7 —4.86=+0.10=40.22
a2(1750)7 03401401  2.2440.1840.17
#(2600) K 59.8+3.44+73 —0.32+0.05+0.12
Sum 118.1+2.74+8.0
x*/ndf = 1738/(1584 — 21) = 1.11

B — KSKKn
K§(1430) K 33.440.942.0 0.
ao(980)7 5140.5+0.8 —3.3840.06+0.08
K3(1430)K 14.64+0.74£0.8  3.5440.0240.07
a2(1320)7 1.14£0.1402 —2.89+0.08+0.18
K§(1950) K 3.7403+0.2 —0.4440.0440.45
ao(1700)7 11402402  1.05+0.06 +0.15
ao(1450) 7 264+03+0.5 —4.8240.06+0.13
a2(1750)7 03401401  2.3340.1240.11
#(2600) K 61.8+244+54 —0.37+0.03+0.09

Sum

123.7+£2.7+4.7




